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0% 10 x sin 45° = 9 x 10 x Y2
=452




o2 283 22 AABC oA /B =85°, /C =
65°, BC =12 & o, AB ] Aol &4 o}
A Z42]7kA] P2 (T sin 65 ° = 0.9063)

A

@ 20.153 @21.751 B 22.482
@ 23.581 ® 24.372

B

/A =180°-(85°+65°) =30°
BH = 125in65° = 10.8756

BH
sin 30 °

. AB=

= 10.8756 x 2 = 21.7512
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AB = 6cm , BC = 10cm , /BCD = ,/
120° 4 o, AC ©] Zoj&? Gem

! 120°
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M AoIA BC o U A A2 H et & of

E:GXSin60°:6x\/T§=3\/§
ﬁ:6><c0560°:6><%:3 ~CH=10-3=7

AC. = AH + CH o|H AC = V2749 = V76 = 219
ojtt,
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@ 4 cm @ 4V2cm
@ 4+5cm ® 4v6cm

mZSXSin60°:8x\/7§:4\/§(cm)
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@ 4+6cm
® 13\/gcm
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75°

3
@4
® 5+v6cm
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~~-1l4cm----""

BC = xzt o4,
14 sin 45° = xsin 60°

14X\/7§:x><\/7§,14‘/§= V3x

R R v
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6. o= 1" A ABCO
A AABC 9] &°] h=7?

@ 30(V3+1

040 V3+1

(V3+1)
(V3+1)
0(«/’+1)
60(V3+1)
(V3+1)

60(V3+1
® 80(V3+1

~&B ~

80
~ tan(90° - 30°) — tan(90° — 45°)

B 80 80 _ 80(V3+1)
~ tan60°-tan45° 3-1 = 3-1

=40(V3+1)
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A ~200-"B

@ 200m @ 200 (1+ V2)m
@200 (1+ V3)m ® 200 (1+ V5)m

® 200(1+ «/E)m

~&B \

BH = 200(m), DH = 200(m)

CH = tan 60° x DH
= V3 x 200 = 200 V3(m)
-.BC =BH+ CH
=200 + 200 V3
=200 (1+ V3) (m)

C

DA60°
45° H[\
200

45°
A ~200-"B




o 1™ Zol 474 ABC oA A

BC = 10cm , AH 1 BC, /ABC = .
I |
40°, /ACB =50° ¢ o, CH 2] Z°] :
=7 (&, tan50° = 1.2, tan40° = 0.8 :
I

) B< i >C

TT=-10em-""

@ 2cm @)4 cm ® 5cm @ 6cm ® Tcm

CH = xcm 2} 5tH AACH |4 AH = xtan50°
AABH |4 AH = (10 — x) tan40°
xtan 50° = 10tan40° — xtan 40 °
x(tan 50 ° + tan 40°) = 10 tan 40 °
10tan 40° 10x0.8

* T fanb0° + tand0° 12408

4(cm)




9. & 199 AABC oA A = 30°, ZCBH = 60° , AB = 40 & o,
AABC 9] ¥o]&=?

@D 20V3 @ 2003 @400«/5
@ 600 V3 ® 800V3

B ~

. o h
BlEI= tan 30°° BH = tan 60°
AB—AO-BO— " h

tan30°  tan 60°

(Y a0 k( 2
tan30° tan60° V3

.'.h=40><‘/7§=20«/§

1
AABC 9] 15101%40><20\/§><5 = 400V3




10. o3 I"olA AABC 9] Hol&

T sin | cos | tan

22°10.37/0.93/0.40

50° 10.77/0.64 1,20

@ 150cm? @ 160 cm? @ 180 cm?

12(cm)

— AD 12
LAED S T = tan22° 040 = 30(cm) °J*.
w2t AABC = % X (10 + 30) x 12 = 240( cm?) o]t}

AABD ©JA AD = BDtanB = 10tan50° = 10 x 1.20 =




O A DbE L W, a=>bsinA, c =bcosA°|Tt.

@ /A2 AW, a=ctanA, b= —— o]t}

cosA
® A%aE LY, b= c= otk
sin A tan A
@) 90 gol a, 977 BE S W, 42E ] Hol:
%accosBO]‘jr.
® & o] 0] b, 5} 717 AR I o, A7FS] ol

1
§bc sin A O] E]'

o] doja, & 719 BE & W, AP Hol S =

L= Ny |

1
Zacsin B
5 acsin




/BAC = 75°, /ABC = 45° gt}. o] o,
AB 9] do]& oozt

® 25 @ 35 ® 26
@3«/6 ® 46

d A oA BC o Hdd 49 =

S H 2 5lH AACH oA AH =

A_Csin60°:6x§:3\/§(m)

utetd] AABH oA

— AH

AB = e = 3‘/3)( \/i =
sin 45

36 (m) ot}




13. & 189 AABC 9|4l AB=8, AC =12, BAC = 60° ©]1L &

G 7} sABC 9] #Al5H Y W, aGBD 9] Hol=?

\\1%

®2vZ @23 @32 @33 @3

~&B

1
AABC 9] Ho]= 5><8><12><sim60°=24«/5
G 7} B2AFA 22 BD=DC, AG:GD=2:1

AABD = %AABC =123

ABGD = %AABD:%XH\B:AL\B




14. oh& 293k 2ol ¥ 52 Aoz 12em
1 9O ol WHsH= Aol d <] wWeols
Fatofet,
® 400cm? @ 412 cm?

@ 422 cm? @®)432 cm?

® 448 cm?
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== j_FJ_L}- 71—o] 2] O—J ;q ABS o]
A 910l A PollA ¥ oo 12 ééJ
AH& Tt k& PT = 46, AB =

/P =30°¢Y 9j, AATB & Ho]=?

® 32 @ 36 ® 52
@ 10V3 @10«/6

~&B

PT’ =PA-PB o|2& PA o] Zo|= x & 5HH
x(x+10) =96

x2 +10x-96 =0

(x—6)(x+16) =0

x=6(" x>0)

w2hA AATB 9] Yol

ABPT — AAPT = % x 16 X 4 V6 x sin 30°

—%x6x4\/€xsin30°

=16V6 - 66
=106




